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A.REI.B.4: Solving Quadratics 8

1 The solution to the equation 4x> + 98 = 0 is 5 The roots of the equation X —4x = —13 are
1) 7 1) 2+3i
2) 7 2) 2zo6i
72 3) 2+4/17
3) t+——
2 4) 24413

4) i—7i“2/5

6 The solutions to the equation 1 x* = —6x+20 are

2
2 What is the solution when the equation Wx* +w =0 ) —6x2
is solved for X, where W is a positive integer? 2) 62419
1) -1 3) 6%2i
2) 0 4) 6+24/19
3) 6
4) Hi
7 A solution of the equation 2x* +3X +2 = 0 is
3 1 J’
3 The roots of the equation X* +2X +5 =0 are D =gt
1) —-3andl
2) SR
H Uvstma <12 o
—1+2iand —1-2i
3 1
4) —1+4iand —1—4i 3) —Z+Zﬁ

4)

4 The roots of the equation 0 = X* +6x + 10 in
simplest a + bi form are

1) -3+£2i
2% _2 £ 8 The roots of the equation 3x* +2x = —7 are
3) -3+i 1) _2’_%

4) -3xia2

7

2) 3.1
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10

11

The solutions to the equation 5X* —2X + 13 = 9 are

p Led2
2) %i“/?i
3) %i@i
p Ledds

The solution to the equation 18x* —24x + 87 = 0 is

1y —2+6in/158

2) —%i%i«/lSS
3) %i6i«/158
4) %i%i«/lSS

The solutions to the equation 3x* —4x +2 = 2x -3

are

2 A2
1) giTl
2) li#i
3) 1i“/31—2
4) 1+2/6i

Name:

12 Ifasolution of 2(2x — 1) = 5x” is expressed in

13

14

15

16

simplest @ + bi form, the value of b is

6

1) Ti
6
)
3 i
y ]

Solve the equation X* +3x + 11 = 0 algebraically.
Express the answer in a + bi form.

Solve the equation 2x* + 5x + 8 = 0. Express the
answer in a + bi form.

Solve the equation 3x” + 5x + 8 = 0. Write your
solution in a + bi form.

a) Algebraically determine the roots, in simplest
a + bi form, to the equation below.
X —2x+7=4x-10

b) Consider the system of equations below.

y=x"—2X+7

y=4x-10

The graph of this system confirms the solution from
part a is imaginary. Explain why.
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Answer Section

1 ANS: 4
4x* =98
2 R
X =73
2 4
=7

REF: 061707aii
2 ANS: 4
wx? +w=0

wx>+1)=0

REF: 061912aii
3 ANS: 3
X2 +2X+1=-5+1

(x+1)° =—4
X+1==2i
X=-1%2i

REF: 081703aii
4 ANS: 3

X2 +6X+9=-10+9

(x+3)" =-1
X+3 =i
X==-3xi

REF: 012416aii

ID:
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ANS: 1
X' —4x+4=—-13+4

(X-2)>=-9
X—2=43i
X=2=%3i
REF: 062312aii
ANS: 3
1o__
—2[—2x = 6x+20]

x* — 12x = —40
x* —12x +36 = —40+ 36
(x—6)° =—4
X—6==2i
X=6%2i

REF: falll504aii
ANS: 1

3143 -400Q) _BEA-7

X= 20) 4

REF: 061612aii
ANS: 3

2524007 24780 _

+

I

Alw

2+inf165

X= 20) 6

REF: 081809aii
ANS: 2

24O 276

3 =

2+if4/19

2(5) - 10

REF: 011905aii
ANS: 4

10

8587 -4002) 54632
X= 2(6) =T 12

REF: 011711aii

_ 8+in/44/158
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5

1
3

t

2,
3

1
6

2iaf5

3

ix/19

5

i~/ 158
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ANS: 2

6:+/(-6°-43)5) 6x-/24 6x2i/6 _inl6
B 6 B 3

2
_ — Iy — - =1+
3XT—4X+2=2X-3 X 20) 6 1+

3XF—6X+5=0

REF: 062410aii

ANS: 2
S 20 4+ /(440502 424 4x2if6 2+i6
B 2(5) B 10 B 10 5

REF: 012020aii
ANS:
D3N 32435 3 i3

B 2(1) B 2 27 2
REF: 082432aii
ANS:
L SENS40®) s i3

B 2(2) 47 4
REF: 061827aii
ANS:
_TSENTAO®) s T

B 2(3) 67 6
REF: 082327aii
ANS:

x> —6x=-17 The solution is imaginary because the parabola and line do not intersect.

X*—6X+9=-17+9
(x-3)>=-8
X3 =122
X =3+2ia2

REF: 081936aii



